1 (Sem-3) POL

Paper : POL0300104
( Perspectives on Public Administration )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8
weTe fraIe e e fir

(a) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the nature of public
administration?

E-PIPER AP TRE AR
e gael o O @RREe v
sifeRrge F41 (A2 ?

(i) Simon

e
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(b)

A25/248

(2)

(i) Smithburg and Thompson
Parersl = 2o

(i) L. D. White
a1, f8. ZRizH

(iv) Luther Gulick
YR Gfers

( Choose the correct option )

(o= o Ak Sfere )

Who.of the following is regarded as the
father of Public Administration?

O (RIS EF-2E e fBpret aien
T2

(i) Dimock
o

() L. D. White
«=. f8. =ei3h

(iti) Willoughby
TR

(iv) Woodrow Wilson
Al T

( Choose the correct option )

( wm Reachr qife Sferear )
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(3)

The term ‘scientific management’ for the
first time used by Max Weber / F. W.
Taylor / Vincent de Gournay / Louis
Brandeis.
‘el ARBE ECh AR A
@[ | 9%, OfFS. (bR / fomees f e3eR /
725 @f4Ts Iz IR |

( Choose the correct option )

( wm s MR Tfered )

The word ‘promotion’ is derived from the
Latin word ‘promovere’.
‘Promotion (“wmf®)’ *Rwbl ‘promovere
(CEATCATSI)” = CaAfbel a1 AR |
( Write Yes or No )
(= = fen )

“Women have been hidden from
history.” This was said by Simone
de Beauvoir / Sheila Rowbotham /

Mary Wollstonecraft.
‘“FfEe [ET W AR I ;R @R
et w o o Resmm /o
@R / TR TAEAFED |

( Choose the correct option )

( = Remcor aife Sferear )
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(9)

(h)
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(4)

What is meant by 3E’

management?

TR -JRFIF® ‘3E’9 & @ 2

in public

There is provision for organization of
Public Service Commission in the Article

315 / 316 / 321 / 322 of the Indian
Constitution.

e TR ©d¢ / 0du / 93y / 03y W
SACERS (IR S SR Ry F491 020 |

( Choose the correct option )

(o= Ko iz Sferear )

Which one of the following is not an

aspect of overlapping feature of Riggs’
Prismatic Sala model?

o @ Ry foefie wen  wwen
STl (afiER @b fir =g 2

() Nepotism / F& (OHF S

(i) Poly-communalism / J&-STemE<sl
(i) Formalism / wsfe sfye

(iv) Poly-normativism / Jeam-RfFzel

( Choose the correct option )

(o= fwsehr qfR Sferear )

( Continued )

s™ Dhegi

(S)

2. Answer the following questions (any six) :

2x6=12

e 2AEd Sed A (R e == )

(a)

(b)

(c)

()

(e)

A25/248

Write two principles of human relation
theory.

TR T ©gq o1 S fora |

What is meant by ‘politics-adminis-
tration dichotomy’?

QeSS 2P R - 59 &2
Mention two obstacles of good
governance.

eI o1 14T Sead 91 |

Mention two problems of personnel
administration.

R 2peTeR 981 T Seay 41 |

Write two merits of seniority principle.

capbl AR 51 <@ B |

Write two differences between new
public management and new public
service approach.

T R W[
TiZeAiE 1ol #f12f% forat |

T CIR-CH
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(9)

(h

()

0

(6)

Write two human aspects of scientific
management.

(T IRFIR 751 T o fBys o

What is new public administration?

TG -2 5 2

Write two similarities between
public administration and private
administration.

SIS (OGP 2 TES T
o1 ST fors o

Mention two aspects of Max Weber’s
bureaucratic theory.

(@99 SCTerelge ©gd 1o e Sray
91 |

3. Write short notes on the following (any foun :
5x4=20

Ga@ﬁhmm?aeﬁmasad%ﬂﬁ*nﬁﬁoﬂaﬂsﬁﬁn:

(a)

(b)

Neutrality in public service

CIR-CTTS et

Evaluation of scientific management
theory

( Continued )

()

(@)

(e)

(9)

(h)

A25/248

(7)

Feminism in public administration

(@ -2XPT ARRM

Importance of public administration in
modern State

HYAS qES (R -PIPF BF]

Disadvantages of indirect method of

recruitment

ST [T AT TR
Differences between integral and
managerial views of public
administration

ER-epiPR S RS o RO
e Tad MLFPRR

Features of good governance

S-2PIPTR CAFEPTR

Henri Fayol’s classical theory

Rl (FEES T 9§
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(8)

4. Answer the following questions (any two) :
, 10x2=20
O 2R s o (R e o)

(a) What is public administration? Discuss
its growth and evolution as a discipline.

2+8=10

G- 57 Sy gy B 3R
TS S R SCeDe 4 |

(b) Critically evaluate the human relation
theory.
TR o1 ©GBR AN o 40

() What is training? What are its kinds?
Discuss any one of it. 2+2+6=10
w1 R W aem B R TR R
(R 9OR e wAairsa <0 |

(d) What

is new public management?
Discuss its salient features. 2+8=10

TR CRRme e W SEIE

WWW|

(e) Evaluate the ecological approach of Fred
Riggs.




